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Time : 2 Hours] 	 [Maximum Marks : 50 

Note : (i) Question No. 1 is compulsory. 

(ii) Attempt any four questions from question No. 2 to 6. 

(iii) Answer five questions in all. 

1. a) State one important function of each of the 
following. 	 5 x 1=5 

i) F1  particles 

ii) Cytochrome b 

iii) Plasmodesmata 

iv) Myelin sheath 

v) Thrombocytes 
b) Indicate whether the following statements are True 

or False. 	 5x1=5 

i) Allosteric enzymes have different binding sites 
for the substrate and effector. 

ii) Brown algae are prokaryotes. 

ii) Mitochondria are semiautonomous organelles. 

iv) Active transport process does not require ATP. 

v) In substrate level phosphorylation there is 
enzyme mediated transfer of a phosphate from 
a substrate to ADP. 
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2. Write short notes on any two of the following: 2x5=10 

i) Evolutionary origin of mitochondria 

ii) Role of cyclic AMP (cAMP) as secondary messenger. 

iii) Nucleosomes 

3. Describe the various types of connective tissues in 
animals with suitable diagrams. 	 10 

4. Differentiate between any two of the following pairs. 
2x5=10 

i) Electrophoresis and Isoelectric focusing. 

ii) Scanning and transmission electron microscopy. 

iii) Rough and smooth endoplasmic reticulum. 

5. a) Give an account of molecular events during cell 
cycle. 	 5 

b) Explain cytoskeletal system of a cell and its 
significance. 	 5 

6. Explain glycolysis and TCA cycle with the help of 
schematic diagram only. 	 10 
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